
1.Does 2/3 have a terminating or recurring decimal equivalent? 
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Denominator: 3 (not just 2’s or 5’s). 
Since denominator contains 3, it has a **recurring** decimal. 
Decimal: 2/3 = 0.666… 

Answer: **Recurring** (0.666…). 
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2. Does 5/6 have a terminating or recurring decimal equivalent? 
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Denominator: 6 = 2 × 3 (contains 3). 
Since denominator includes 3, it has a **recurring** decimal. 
Decimal: 5/6 = 0.8333… 

Answer: **Recurring** (0.833…). 
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3. Does 7/9 have a terminating or recurring decimal equivalent? 
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Denominator: 9 = 3² (not just 2’s or 5’s). 
Since denominator contains 3, it has a **recurring** decimal. 
Decimal: 7/9 = 0.777… 

Answer: **Recurring** (0.777…). 
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4. Does 4/11 have a terminating or recurring decimal equivalent? 
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Denominator: 11 (not just 2’s or 5’s). 
Since denominator contains 11, it has a **recurring** decimal. 
Decimal: 4/11 = 0.363636… 

Answer: **Recurring** (0.363636…). 
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5. Does 1/7 have a terminating or recurring decimal 
equivalent? 
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